AQA-style exam questions.
Answer the questions by typing your answers into the red boxes.

The Big Three at Yalta and Potsdam
1
What was decided at the Yalta Conference of February 1945? 
[4]
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‘How are we feeling today?’ – a British cartoon of early 1945 showing Churchill, Roosevelt (USA) and Stalin (USSR) as doctors, working together to heal the world.

This British cartoon suggests that Churchill, Roosevelt and Stalin were united.  

Do you agree?  

Explain your answer by referring to the purpose of the source, as well as using its content and your knowledge.
[6]
     
3
Who was more responsible for the disagreements at the Potsdam Conference in July 1945:

a. Stalin, or
b. Truman?  


You must refer to both leaders when explaining your answer.
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